

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



											275	1913	1800	704)
	Depar	tmen	90-PF It of the Treasury		▶ t ▶ Informati	or Se Do not enter	ction 49 social s	947(a)(1) Tecurity n	Trust Treat umbers or	Found ted as Private this form as instructions	e Foundation it may be m	ade public. s. <i>gov/form9</i> 9	150C	OMB No 1545	-0052 4
•	Ford	aler	ndar year 2014				1,	2014		, and e		JUN 30			<u>,</u>
			foundation									A Employer	identification	number	
			RICK J				IPSO	N							
			ILY FOU								-		404215		
	Num 9		und street (or POI		if mail is not de	elivered to street	address)			Room/suite	B Telephone	e number · 9 5 4 – 6 3	2.4	
•			own, state or pr		untry and 71	D or foreign n	oetal co	ndo.			<u> </u>			 -	_
			LETON,		54913	r or ioreign p	ostai cc	106				o if exemption	application is p	ending, check here	
-			all that apply:		Initial returi	n		Initial re	turn of a fr	ormer public o	harity	D 1. Foreian	organizations	s, check here	▶□
					Final return			7	ed return	•	•				
					Address ch	ange] Name cl	nange			Z. Foreign of check he	organizations me ere and attach co	eting the 85% test, imputation	▶□
	H C	_	type of organiz			n 501(c) <u>(3)</u> ex					n 4	E If private f	oundation sta	tus was terminated	
	<u> </u>		ction 4947(a)(1						ate founda		U	under sec	tion 507(b)(1)	(A), check here	▶∟_
			arket value of all		end of year	J Account	•		Cash	Acci	rual (60-month termination	on
127	(fro		Part II, col (c),		9 327	(Part I, colu	ther (sp		on cash	haere l		under sec	tion 507(b)(1)	(B), check here	▶∟_
2015	Pa	<u> </u>	Analysis of R	evenue ai	nd Expenses		T T) Revenue			vestment	(c) Adm	ısted net	(d) Disburseme	ents
2			The total of ame necessarily equ	ounts in colu al the amour	umns (b), (c), an nts in column (a	d (d) may not i))		penses pe			ome		ome	for charitable purp (cash basis on	oses
•		1	Contributions,	gıfts, gran	its, etc., recei	ved						N/	A * ;,	1	,
		2	Check X	if the foundatio	on is not required to	attach Sch B	13 62	(*1 % %)		National Control	*.`å	· 18/1	1001683	, , ,	2.3.7
N0V		3	Interest on saving cash investments	gs and temp	orary									٠.;	
		4	Dividends and	interest fro	om securities	5		108	,090.	10	8,090.			STATEMENT	<u>r 1</u>
SCAMME		_	Gross rents				ļ.,				. * * *	64. * 06		/3071A	. ,
茎	.	_	Net rental income	· · -				998	,449.		<u>'``\\</u>	£.1 ₀₀ , ,	3		
Z	. ĕ	Ua h	Net gain or (loss) Gross sales price assets on line 6a	from sale of for all	2,944		24 23	- 3 3 G /	, 440.		· 12a	1 1 1 1 1 1	e Obsezionalea		
C	١١٥	7	Capital gain net i			72001	* * * * * * * * * * * * * * * * * * * *			99		8 A S A S A S	* 27 a 4 3	* 3,7 %,7	7.8
U.	ן ייי	8	Net short-term		·-			* -	*	`>*^ \$1			7. 485. 1488 175	18%.	
		9	Income modifi				: .	······································	~		ti iliyaa			. 1144463	
		10a	Gross sales less and allowances	returns			: 3	4	3/2 5	1.50	17.43		(* e ^r		, ,
			Less Cost of goo				\$ Pa	nie.				,13	*	, 🤻	<u> </u>
			Gross profit or	(loss)					247.		0.			COD A CODE CODE	<u> </u>
			Other income Total. Add line	o 1 throug	nh 11		<u> </u>	,106		1 10	6,539.			STATEMEN'	Г 2
•		13	Compensation of			e etc	┢╌	, 100	0.	1,10	0,333.			g 3**	, 0.
			Other employe			,, 0.0									
			Pension plans,									· · · · · · · · · · · · · · · · · · ·			
	ses	16a	Legal fees												
	beu		Accounting fee			MT 3			,235.		1,118.			1,:	117
	ñ		Other profession	onal fees	ST	MT 4	<u> </u>	14,	,200.	1	4,200.				0 .
	ţį		Interest		СШ	MT 5	<u> </u>	3	,552.		1,232.				0.
	str	18	Taxes Depreciation a	nd denletic		m J	├─	<u> </u>	, 332.		1,232.				
	Administrative Expenses	20	Occupancy				\vdash								
	Adi	21	Travel, confere	nces and	meenings/E	D									
	and	22	Printing and p	ublications	5	1 (0)									
	ng,	23	Other expense	s ~~*	- ഒരെ ഉ	015 10									
	rati	24	Total operation	b ayg pay	ninistrative	27 LS	1		00=		c ===				
	Operating		expenses Adi	1 lines 13 t	through 23_	يليا للسيبيس	1		987.	1	6,550.			1,3	$\frac{117}{000}$
	_	25	Contributions, Total expense	gitts, gran	SPEN,	<u>UT</u>	μ	∠∪5	,000.			<u> </u>		205,0	700
		20	TOTAL EXPENSE	o anu ujst	ушъснюпта.					l		!		1	

423501 11-24-14 LHA For Paperwork Reduction Act Notice, see instructions.

a Excess of revenue over expenses and disbursements

b Net investment income (if negative, enter -0-)

c Adjusted net income (if negative, enter -0-)

Form **990-PF** (2014)

206,117.

1

224,987.

881,799.

2014.04030 PATRICK J AND JANET L THOMP 25189__1

16,550.

1,089,989.

63,24

N/A



Add lines 24 and 25

27 Subtract line 26 from line 12:

26-1404215 Page 2

n	art II Balance Sheets Attached schedules and amounts in the description		Beginning of year		of year
1,000	column should be for end-of-year amounts only		(a) Book Value	(b) Book Value	(c) Fair Market Value
\neg	1	Cash - non-interest-bearing	100.	100.	100.
	2	Savings and temporary cash investments	85,825.	11,363.	11,363.
	3	Accounts receivable >	zi.	A :	1
1		Less; allowance for doubtful accounts	**************************************		
ŀ	4	Pledges receivable ▶	*	· *·* *	34 19
	•	Less; allowance for doubtful accounts ▶			
	5	Grants receivable	-		
	6	Receivables due from officers, directors, trustees, and other			
	-	disqualified persons			
Ì	7	Other notes and loans receivable		W. 454	
	•	Less: allowance for doubtful accounts			
ر. ا	8	Inventories for sale or use			
Assets	۵	Prepaid expenses and deferred charges			
Ass	10.	Investments - U.S. and state government obligations			<u> </u>
					· · · · · · · · · · · · · · · · · · ·
		Investments - corporate stock Investments - corporate bonds			
			1 (* * *) 11	,	
	11	Investments - land, buildings, and equipment, basis			
	10	Less accumulated depreciation			
		Investments - mortgage loans Investments - other STMT 6	3,374,944.	4,331,205.	4,377,864.
	13		3,3/4,344.	3,331,403.	7,311,004.
l	14	Land, buildings, and equipment basis		<u> </u>	Administration of the second s
		Less accumulated depreciation			-
		Other assets (describe			
	16	Total assets (to be completed by all filers - see the	2 460 060	1 212 660	1 200 227
_		instructions. Also, see page 1, item I)	3,460,869.	4,342,668.	4,389,327.
	17	Accounts payable and accrued expenses			
	18	Grants payable			
es	19	Deferred revenue			
#	20	Loans from officers, directors, trustees, and other disqualified persons			
Liabilities	21	Mortgages and other notes payable			
-	22	Other liabilities (describe			
			_	_	
_	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
v		and complete lines 24 through 26 and lines 30 and 31.			
Balances	24	Unrestricted			Mark 18 All the State
alar	25	Temporarily restricted			
	26	Permanently restricted			,
Ĕ		Foundations that do not follow SFAS 117, check here			, %, ,
F		and complete lines 27 through 31.	2 600 046	2 600 010	- 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
Net Assets or Fund	27	Capital stock, trust principal, or current funds	3,680,812.	3,680,812.	
sse	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
t As	29	Retained earnings, accumulated income, endowment, or other funds	-219,943.	661,856.	
Ne	30	Total net assets or fund balances	3,460,869.	4,342,668.	
	Ì				
	31	Total liabilities and net assets/fund balances	3,460,869.	4,342,668.	k &
P	art	Analysis of Changes in Net Assets or Fund B	alances		
_				r	
		I net assets or fund balances at beginning of year - Part II, column (a), line	30		
	(mu	st agree with end-of-year figure reported on prior year's return)		1	3,460,869.
2	Ente	r amount from Part I, line 27a	2	881,799.	
3	Othe	r increases not included in line 2 (itemize)		3	0.
4	Add	lines 1, 2, and 3	· ·	4	4,342,668.
5	Deci	eases not included in line 2 (itemize)		5	0.
6	Tota	I net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	4,342,668.
					Form 990-PF (2014)

26-1404215 Page 3

Part IV Capital Gains a	nd Losses	for Tax on In	ivestmen	t Income							
(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse; or common stock, 200 shs. MLC Co.)					(b) I	How ac - Purcl - Dona	quired hase ation		acquired lay, yr.)	(d) Date sold (mo., day, yr.)	
12 PUBLICLY TRADED SECURITIES					 -		P		-		
b PUBLICLY TRADED SECURITIES						•	P				
c PUBLICLY TRADEL	SECUR	TTIES					D				
d CAPITAL GAINS DIVIDENDS											
e					<u> </u>						
(e) Gross sales price		ation allowed lowable)		st or other basis expense of sale					ain or (loss s (f) minus i	(g)	
a 335,388.				331,43						3,956.	
b 2,478,345.				1,591,05						887,295.	
c 56,718.				23,35	7.					33,361.	
d 73,837.										73,837.	
e		(h)	h - f d-4	40/04/00							
Complete only for assets showing	.=						(I	Gains (C (k) hut i	ol. (h) gain not less thai	minus n -0-1 or	
(i) F.M.V. as of 12/31/69		sted basis 12/31/69		cess of col. (i) col. (j), if any				Losses	(from col. (h))	
a										3,956.	
b										887,295.	
С					[33,361.	
d										73,837.	
e											
2 Capital gain net income or (net cap	oital loss)	If gain, also enter If (loss), enter -0-			}	2				998,449.	
3 Net short-term capital gain or (loss) as defined in s	sections 1222(5) an	d (6):		١, ١						
If gain, also enter in Part I, line 8, o		• •			١I				/ -		
If (loss), enter -0- in Part I, line 8		4040(a) 4a	Dod	Tair an Nat		3	A I		N/A		
Part V Qualification Ur							ient inc	ome			
(For optional use by domestic private	foundations sub	ject to the section 4	1940(a) tax on	i net investment in	come	:-)					
If section 4940(d)(2) applies, leave this	s part blank.										
Was the foundation liable for the secti	on 4042 toy on	the dietributable om	ount of any w	aar in the hace ner	od2					Yes X No	
If "Yes," the foundation does not qualif				•	100					103 [22] 110	
1 Enter the appropriate amount in ea	ach column for	each year; see the in	structions be	fore making any e	ntries						
(a)	·	(b)			(c)		_	- T	Dieterk	(d) oution ratio	
Base period years Calendar year (or tax year beginnin	gın) Adj	usted qualifying dist	tributions	Net value of no			use assets	e assets (col. (b) divided by col. (c))			
2013		16	6,652.		4	, 25	2,966	•		.039185	
2012		20	6,479.		4	,00	2,092	\cdot		.051593	
2011			5,158.		3	,61	1,808	•		.042959	
2010			1,130.				0,483			.040466	
2009		9	8,018.		2	, 73	5,011	•		.035838	
2 Total of line 1, column (d)								2		.210041	
3 Average distribution ratio for the 5	-year base perio	d - divide the total o	on line 2 by 5,	or by the number	of yea	ars		1			
the foundation has been in existen	ce if less than 5	years						3		.042008	
										4 44 5 004	
4 Enter the net value of noncharitable	e-use assets for	2014 from Part X, I	ine 5					4		4,415,984.	
										105 505	
5 Multiply line 4 by line 3								5		185,507.	
O Fater 400 of a throughout record (400 of Book) line 07h)							10 000				
6 Enter 1% of net investment income	e (1% of Part I,	line 27b)						6		10,900.	
7 Add lines 5 and 6								7		196,407.	
											
8 Enter qualifying distributions from								8		206,117.	
If line 8 is equal to or greater than See the Part VI instructions.	line 7, check the	box in Part VI, line	1b, and comp	lete that part usin	g a 1%	% tax r	ate.				

PATRICK J AND JANET L THOMPSON

Form 990-PF (2014) FAMILY FOUNDATION INC		104215		Page 4
Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(e), or	1948 - S	ee instru	Ctio	ns)
• 1a Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.		, , , , ,		; '
Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)				ليين
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🗓 and enter 1%	1	1	0,9	00.
of Part I, line 27b		· · · · ·		\$.
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).	<u> </u>			٠, "
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	2			<u>0.</u>
3 Add lines 1 and 2	3	1	0,9	00.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	4			0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	5	1	0,9	00.
6 Credits/Payments:	*			
a 2014 estimated tax payments and 2013 overpayment credited to 2014 6a 2,320	\$ 1 1	*		}
b Exempt foreign organizations - tax withheld at source 6b		*		1
c Tax paid with application for extension of time to file (Form 8868)		* *	< 4	
d Backup withholding erroneously withheld 6d		345	, ,,,	200
7 Total credits and payments. Add lines 6a through 6d	7		2,3	20.
8 Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	8			7.
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed	9		8,5	87.
10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10			
11 Enter the amount of line 10 to be; Credited to 2015 estimated tax	11			
Part VII-A Statements Regarding Activities				
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervent	e in	3	Yes	No
any political campaign?		1a	\Box	X
b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition	1)?	1b	\Box	X
If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials publish		33		4 . % 1 . % 3
distributed by the foundation in connection with the activities		7, 4,	, ši	3 1
c Did the foundation file Form 1120-POL for this year?		1c		X
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:		3 4		
(1) On the foundation. ► \$ 0. (2) On foundation managers. ► \$				2.2.1
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation	•			
managers. ► \$ 0.		\$2.00 m	* * * * * * * * * * * * * * * * * * *	
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?		2	****	X
If "Yes," attach a detailed description of the activities			4. 1	
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation,	ог		112	3.3
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		3		X
4a Did the foundation have unrelated business gross income of \$1,000 or more during the year?		4a		X
b If "Yes," has it filed a tax return on Form 990-T for this year?	N/A	4b		
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?		5		X
If "Yes," attach the statement required by General Instruction T.		, eg		, ^ '
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		4 1 5	4.3	8.4
By language in the governing instrument, or				1 2 3
By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state.	e law	m.		
remain in the governing instrument?		6	X	
7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XI	/	7	X	
8a Enter the states to which the foundation reports or with which it is registered (see instructions)		,		
WI				
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)		_		
of each state as required by General Instruction G? If "No," attach explanation		8b	X	
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calc	endar			
year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes, " complete Part XIV		9		X
10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses		10		Х
		Form QQQ	DE	2014\

PATRICK J AND JANET L THOMPSON

	1 990-PF (2014) FAMILY FOUNDATION INC	26-1404	215		Page 5
Pa	art VII-A Statements Regarding Activities (continued)				
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of				
	section 512(b)(13)? If "Yes," attach schedule (see instructions)		11		X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory	privileges?			
	If "Yes," attach statement (see instructions)	-	12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?		13	X	
	Website address ►N/A				
14		. ▶ 920-95			
	Located at ▶ 9 NORTH KURT AVE, APPLETON, WI	ZIP+4 ▶ 54	913		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here			. •	\cdot
	and enter the amount of tax-exempt interest received or accrued during the year	15	N	/A	
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank,			Yes	
	securities, or other financial account in a foreign country?		16	L_,	X
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If "Yes," enter the name	ne of the		,	
_	foreign country				
P	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required	 			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.			Yes	No
18	a During the year did the foundation (either directly or indirectly):	. 📆	á	. 4	- ,
		res X No	8		4
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)	. 📆	1.62		-'
	<u> </u>	res X No		٠ ```	
		/es X No	15		1:4
		res X No	3.7		
	(5) Transfer any income or assets to a disqualified person (or make any of either available	(У н.	¿· ·		
		res X No		1.3	
	(6) Agree to pay money or property to a government official? (Exception, Check "No"		¥4.	s ''	
	If the foundation agreed to make a grant to or to employ the official for a period after	res X No		ر ا	4
	termination of government service, if terminating within 90 days.) If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations	res (A. NO			
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	N/A	1b		ليعظ
	Organizations relying on a current notice regarding disaster assistance check here	N/A	10	30.00	5 \% · #d
	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected		** **	2	
•	before the first day of the tax year beginning in 2014?		1c	<u> </u>	X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation		1130 %		7 W. I
•	defined in section 4942(j)(3) or 4942(j)(5)):		\$1 (g)		
	a At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginni	na	14		1,23
		res X No	3		
	If "Yes," list the years			, utg	
ı	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect	ct		` 3°.	, 1
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attac			MAX.	8:4
	statement - see instructions.)	N/A	2b		انعقصيب
(If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.	·		į÷,	· ** · **
	•				l 'l
38	a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time				*
	during the year?	res X No			_
ı	o If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons a	fter	< · 🥞		
	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to	dispose	4	3.2	
	of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule	C,		14.6	
	Form 4720, to determine if the foundation had excess business holdings in 2014.)	N/A	3b		
48	a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?		4a		X
ı	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpos	se that		٠	
	had not been removed from jeopardy before the first day of the tax year beginning in 2014?		4b		X
		For	m 99 0)-PF	(2014)

Page 6

Rart VII_B Statements Regarding Activities for Which I	orm 4/20 May Be H	requirea (continu	uea)	to the last last agent being the			
5a During the year did the foundation pay or incur any amount to:							
Yes X No							
(2) Influence the outcome of any specific public election (see section 4955); or to carry on, directly or indirectly,							
any voter registration drive?		es X No					
(3) Provide a grant to an individual for travel, study, or other similar purposes	es 🔀 No						
(4) Provide a grant to an organization other than a charitable, etc., organization	(4) Provide a grant to an organization other than a charitable, etc., organization described in section						
4945(d)(4)(A)? (see instructions)		Ye	es 🗶 No	' ' '			
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, or fo			* 1			
the prevention of cruelty to children or animals?		Y6	es 🗶 No	* *			
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify unc	ler the exceptions described in	n Regulations					
section 53.4945 or in a current notice regarding disaster assistance (see instru	ctions)?		N/A	5b			
Organizations relying on a current notice regarding disaster assistance check h	ere						
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr	om the tax because it maintail	ned					
expenditure responsibility for the grant?	N	/A 🗀 Ye	s 🔲 No				
If "Yes," attach the statement required by Regulations section 53.4945	5-5(d).			• •			
6a Did the foundation, during the year, receive any funds, directly or indirectly, to p	pay premiums on			·			
a personal benefit contract?		Ye	es 🗶 No	ž 'x			
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?			6b X			
If "Yes" to 6b, file Form 8870							
7a At any time during the tax year, was the foundation a party to a prohibited tax s	helter transaction?	Ye	s 🗶 No	•			
b If "Yes," did the foundation receive any proceeds or have any net income attribu	table to the transaction?		N/A	7b			
Part VIII Information About Officers, Directors, Trust	ees, Foundation Ma	nagers, Highly	/	_			
Paid Employees, and Contractors							
1 List all officers, directors, trustees, foundation managers and their		/ Companyation	1/4/2	1			
(a) Name and address	(b) Title, and average hours per week devoted	(c) Compensation (If not paid,	(d) Contributions to employee benefit plans and deferred	(e) Expense account, other			
	to position	enter -0-)	compensation	allowances			
	PRESIDENT AND	TREASURE	R				
9 N KURT AVENUE		•	_				
APPLETON, WI 54913	0.33	0.	0	0.			
	VICE PRESIDEN	T AND SEC	RETA				
9 N KURT AVENUE	0 00	•					
APPLETON, WI 54913	0.33	0.	0	. 0.			
	ASST SECRETAR	Y AND ASS	T TR				
100 W LAWRENCE ST		•					
APPLETON, WI 549122728	0.33	0.	0	. 0.			
2 Compensation of five highest-paid employees (other than those inc	luded on line 1) If none	ontor "NONE "					
2 Compensation of five nighest-paid employees (other than those inc	(b) Title, and average	enter NONE.	(d) Contributions to	(e) Expense			
(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred	account, other allowances			
NONE	devoted to position		compensation	allowalices			
NONE							
	<u>. </u>			 			
				+			
				 			
				1			
				1			
Total number of other employees paid over \$50,000			•	0			
The state of the s			Fori	n 990-PF (2014)			

PATRICK J AND JANET L THOMPSON

	6-14042	215 Page 7
Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."		
(a) Name and address of each person paid more than \$50,000 (b) Type of service		(c) Compensation
NONE	$\overline{}$	
	-	
		
Total number of others receiving over \$50,000 for professional services		0
Partix: A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	F	xpenses
		
1 N/A	- -∤	
2		
3	 	
	 	
4		
Dort IV D. C		
Part IX B Summary of Program-Related Investments Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.		Amount
		
1 N/A		
		
2		
All other present related presents Controller		
All other program-related investments. See instructions.		
3	\dashv	
	+-	0.
Total. Add lines 1 through 3	<u> </u>	
	Form	990-PF (2014)

Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations,	see instructions.)
1 Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:	BU	
a Average monthly fair market value of securities	1a	4,395,452.
b Average of monthly cash balances	1b	4,395,452. 87,780.
c Fair market value of all other assets	10	<u> </u>
d Total (add lines 1a, b, and c)	1d	4,483,232.
e Reduction claimed for blockage or other factors reported on lines 1a and	7 4 7 1	· · · · · · · · · · · · · · · · · · ·
1c (attach detailed explanation) 1e 0.	1, , ,	
2 Acquisition indebtedness applicable to line 1 assets	2	0.
3 Subtract line 2 from line 1d	3	4,483,232.
4 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	67,248.
5 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	4,415,984.
6 Minimum investment return. Enter 5% of line 5	6	220,799.
Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and	nd certain	
foreign organizations check here and do not complete this part.)		
1 Minimum investment return from Part X, line 6	1	220,799.
2a Tax on investment income for 2014 from Part VI, line 5 2a 10,900.		
b Income tax for 2014. (This does not include the tax from Part VI.)]	
c Add lines 2a and 2b	2c	10,900.
3 Distributable amount before adjustments. Subtract line 2c from line 1	3	209,899.
4 Recoveries of amounts treated as qualifying distributions	4	0.
5 Add lines 3 and 4	5	209,899.
6 Deduction from distributable amount (see instructions)	6	0.
7 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	209,899.
Qualifying Distributions (see instructions)		
1 Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	111	
a Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	206,117.
b Program-related investments - total from Part IX-B	1b	0.
2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3 Amounts set aside for specific charitable projects that satisfy the:		
a Suitability test (prior IRS approval required)	3a	
b Cash distribution test (attach the required schedule)	3b	
4 Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	206,117.
5 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
income. Enter 1% of Part I, line 27b	5	10,900. 195,217.
6 Adjusted qualifying distributions. Subtract line 5 from line 4	6	
Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation	qualifies for	the section
4940(e) reduction of tax in those years.		Form 000 DE (2014)

Form **990-PF** (2014)

Page 9

PATRICK J AND JANET L THOMPSON FAMILY FOUNDATION INC

Part XIII Undistributed Income (see instructions) (b) (c) (d) (a) 2013 2014 Years prior to 2013 Corpus 1 Distributable amount for 2014 from Part XI, 209,899. 2 Undistributed income, if any, as of the end of 2014 203,073 a Enter amount for 2013 only b Total for prior years: 0 3 Excess distributions carryover, if any, to 2014: a From 2009 **b** From 2010 c From 2011 dFrom 2012 e From 2013 0 f Total of lines 3a through e 4 Qualifying distributions for 2014 from Part XII, line 4: ►\$ 206,117 073 a Applied to 2013, but not more than line 2a b Applied to undistributed income of prior years (Election required - see instructions) c Treated as distributions out of corpus (Election required - see instructions) d Applied to 2014 distributable amount . . > , 40 500. 0 e Remaining amount distributed out of corpus 0 0. 5 Excess distributions carryover applied to 2014 (If an amount appears in column (d), the same amount must be shown in column (a)) 6 Enter the net total of each column as indicated below: a Corpus Add lines 3f, 4c, and 4e Subtract line 5 b Prior years' undistributed income. Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously d Subtract line 6c from line 6b. Taxable 0 amount - see instructions e Undistributed income for 2013. Subtract line 0 4a from line 2a. Taxable amount - see instr. f Undistributed income for 2014, Subtract lines 4d and 5 from line 1. This amount must 206,855. be distributed in 2015 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election 0 may be required - see instructions) 8 Excess distributions carryover from 2009 0. not applied on line 5 or line 7 9 Excess distributions carryover to 2015. 0. Subtract lines 7 and 8 from line 6a 10 Analysis of line 9: a Excess from 2010 b Excess from 2011 c Excess from 2012 dExcess from 2013 e Excess from 2014 42358T 11-24-14

Page 10

Part XIV Private Operating F	oundations (see in:	structions and Part VII	-A, question 9)	N/A	
1 a If the foundation has received a ruling o	r determination letter that	t it is a private operating			
foundation, and the ruling is effective fo	r 2014, enter the date of t	the ruling	▶		
b Check box to indicate whether the found	dation is a private operatir	ng foundation described i	n section	4942(j)(3) or 49)42(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2014	(b) 2013	(c) 2012	(d) 2011	(e) Total
investment return from Part X for				·	100
each year listed					
b 85% of line 2a					./
c Qualifying distributions from Part XII,				 	/
line 4 for each year listed				· /	
d Amounts included in line 2c not				/	
used directly for active conduct of					
exempt activities	<u> </u>			 /	
e Qualifying distributions made directly					
for active conduct of exempt activities.				./	
Subtract line 2d from line 2c 3 Complete 3a, b, or c for the					
alternative test relied upon:	İ				
a "Assets" alternative test - enter:]				
(1) Value of all assets					
(2) Value of assets qualifying					
under section 4942(j)(3)(B)(i)			/		
b "Endowment" alternative test - enter		,	ľ		
2/3 of minimum investment return shown in Part X, line 6 for each year	1				
listed					
c "Support" alternative test - enter:				l	
(1) Total support other than gross	1			İ	
investment income (interest,					1
dividends, rents, payments on				Ì	
securities loans (section 512(a)(5)), or royalties)	!				
(2) Support from general public					
and 5 or more exempt					
organizations as provided in					
section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization					
(4) Gross investment income [Part:XV] Supplementary Info	rmation (Comple	te this part only	l if the foundation	had \$5,000 or me	nre in assets
at any time during t			ii tiic iodiidatioii	παα φο,σσο σι πι	ore iii addeta
					
1 Information Regarding Foundation		than OO/ of the total contr	whitean recould by the	foundation before the elec	no of any tay
a List any managers of the foundation wh year (but only if they have contributed n	o nave contributed more	ection 507(d)(2))	ibutions received by the	iounuation before the clos	Se of ally tax
	τοιο αιαπ φο,οσο). (σσσ σ	551,511 557 (4)(2).)			
SEE STATEMENT 7	400/				
b List any managers of the foundation who other entity) of which the foundation has			or an equally large portion	n of the ownership of a pa	artnership or
• /	sa 1076 or greater interes) L			
NONE					
2 Information Regarding Contributi					
Check here ► X if the foundation o	nly makes contributions t	to preselected charitable (organizations and does n	ot accept unsolicited requ	ests for funds. If
the foundation makes gifts, grants, etc.	·				<u> </u>
a The name, address, and telephone num	ber or e-mail address of t	he person to whom appli	cations should be addres	sed:	
b The form in which applications should b	e submitted and informat	tion and materials they sh	ould include:		
c Any submission deadlines:					
d Any restrictions or limitations on awards	s, such as by geographica	il areas, charitable fields,	kinds of institutions, or o	ther factors:	

6 Grants and Contributions Paid During th		Payment	,	
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	any foundation manager or substantial contributor	recipient		
a Paid during the year				
		DUDI TO GUNDIMY	DENEDAY MCF	
MINNEHAHA ACADEMY 3100 WEST RIVER PARKWAY	N/A	PUBLIC CHARITY	GENERAL USE	
MINNEAPOLIS, MN 55406				25,00
WINONA STATE UNIVERSITY	N/A	PUBLIC CHARITY	GENERAL USE	
P.O. BOX 5838 WINONA, MN 55987-5838				25,000
COMMUNITY FOUNDATION	N/A	PUBLIC CHARITY	GENERAL USE	
P.O. BOX 563 APPLETON, WI 54912-0563				55,000
CONCORDIA UNIVERSITY - ST. PAUL 275 SYNDICATE STREET NORTH	N/A	PUBLIC CHARITY	EDUCATION	
ST. PAUL, MN 55104-5494				100,000
Total			▶ 3a	205,000
b Approved for future payment				·
NONE				
	i.			
<u> </u>				
Total		<u> </u>	▶ 3b	

Form 990-PF (2014)

Analysis	of Incom	ne-Produci	ng Activities

Enter gross amounts unless otherwise indicated.		ed business income		uded by section 512, 513, or 514	(e)
	(a) Business	(b)	Exclu- sion		Related or exempt
1 Program service revenue;	code	Amount	code	Amount	function income
a			↓		
b			↓		
C			 		
d			+		
e			+		
Fore and contracts from government agencies			+		
g Fees and contracts from government agencies2 Membership dues and assessments	-		+		
3 Interest on savings and temporary cash			+		
investments	ľ				
4 Dividends and interest from securities			14	108,090.	
5 Net rental income or (loss) from real estate:				I COMPANIA DE LA COMPANIA DEL COMPANIA DE LA COMPANIA DEL COMPANIA DE LA COMPANIA DEL COMPANIA DE LA COMPANIA DEL COMPANIA DE LA COMPANIA DELICA DE LA COMPANIA DE LA COMPANIA DE LA COMPANIA DE LA COMPA	THE STATE OF THE S
a Debt-financed property	1 3 4 6 40	A 2000 0100	1 1979		
b Not debt-financed property			1		
6 Net rental income or (loss) from personal					
property					
7 Other investment income					
8 Gain or (loss) from sales of assets other					
than inventory			18	998,449.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:			1 1 4	247	
a FEDERAL TAX REFUND	_		14	247.	
b	_		+		
<u> </u>				<u> </u>	
de	_		+		
12 Subtotal. Add columns (b), (d), and (e)		0.	_ ≖ ∰ η	1,106,786.	0.
13 Total. Add line 12, columns (b), (d), and (e)				13	1,106,786.
(See worksheet in line 13 instructions to verify calculation	s.)				2,200,.001
Part XVIEB Relationship of Activitie		omplishment of F	vomr	t Durnoses	
Relationship of Activities	es to the Acc	omplishment of E	xemp		
Line No. Explain below how each activity for which			A contri	buted importantly to the accor	nplishment of
the foundation's exempt purposes (other	than by providing fu	nds for such purposes).			
					
				- ·	
	·				
				 	
					
				· · · · · · · · · · · · · · · · · · ·	
					<u> </u>
423621 11-24-14		· · · · · · · · · · · · · · · · · · ·			5 000 BE 11
11-24-14					Form 990-PF (2014)

Part XVII	Information Re Exempt Organi		nsfers To a	and Transacti	ons a	nd Relations	hips With No	ncharitable	е	
1 Did the o	rganization directly or indir		of the following	o with any other ord	anızatıoı	n described in secti	on 501(c) of		Yes	No
	(other than section 501(c)						(-, -		~ ,	
	from the reporting founda				J				3, %	i
(1) Cast	• •		•					1a(1)		X
(2) Othe								1a(2)		X
b Other train								~ \$\div 0;	,	
(1) Sale:	s of assets to a noncharitat	ole exempt organiza	ation					1b(1)		X
(2) Puro	hases of assets from a nor	ncharitable exempt	organization					1b(2)		X
(3) Rent	al of facilities, equipment, o	or other assets						1b(3)		X
(4) Reim	bursement arrangements							1b(4)		X
(5) Loar	is or loan guarantees							1b(5)		X
(6) Perfe	ormance of services or mei	mbership or fundra	ısıng solıcıtatıc	ns				1b(6)		Х
c Sharing o	of facilities, equipment, mai	ling lists, other ass	ets, or paid em	ployees				1c		X
or service	wer to any of the above is ' es given by the reporting fo d) the value of the goods, o	oundation. If the fou	ındatıon receiv						ets,	
(a)Line no	(b) Amount involved			e exempt organization	n	(d) Description	of transfers, transactu	ons, and sharing an	rangeme	nts
			N/A							
						<u> </u>				
						·				
										
						4-				
										
						 	· · · · · · · · · · · · · · · · · · ·			
									-	
ın sectior	Indation directly or indirect in 501(c) of the Code (other complete the following sche	than section 501(c		•	organiza	ations described		Yes	X	No
0 11 163, 0	(a) Name of orga			(b) Type of organi	zation		c) Description of re	elationship		
	N/A			,,,,				<u> </u>		
										
·	 		_							
Sign Here	r pendities di perjung, I declare ti elief, it as true, codect, and com							May the IRS of return with the shown below Yes	e prepare	er
l Sig	Print/Type preparer's na	me V	Preparer's s		71	Date	Check if	PTIN		
Paid	RONALD J A		Rail	A Alterdon	10	10/12/2015	self- employed	P00040	624	
Preparer	Firm's name SCH		1 where	y wiene	7	11-1017	Firm's EIN ► 3			
Use Only		ENCK SC		<i>V</i>			FILLIS EIN P 3		J <u>T</u>	
	Firm's address ► 20				X 1	739			_	
	i AP	PLETON. V	VT 5491	2-1739			Phone no. 92	0731811	1	

Form **990-PF** (2014)

FORM 990-PF	DIVIDENDS	AND INTER	REST FROM	SECUR	ITIES	STATEMENT 1
SOURCE	GROSS AMOUNT	CAPITAI GAINS DIVIDENI	REV	A) ENUE BOOKS	(B) NET INVEST MENT INCOM	
BMO AGY #7013 BMO AGY #7013 ACCRD INC	106,391.			6,391. 1,699.	106,391	
BMO AGY #7013 CGD	73,837.			0.	0	-
TO PART I, LINE 4	181,927.	73,83	10	8,090.	108,090	<u> </u>
FORM 990-PF		OTHER I	NCOME			STATEMENT 2
DESCRIPTION			(A) REVENUE PER BOOK		(B) ET INVEST- ENT INCOME	(C) ADJUSTED NET INCOME
FEDERAL TAX REFUND		_		247.	0.	
TOTAL TO FORM 990-P	F, PART I,	LINE 11		247.	0.	
FORM 990-PF		ACCOUNTI	NG FEES			STATEMENT 3
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INV MENT IN	EST-	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
ACCTG FEES		2,235.	1	,118.		1,117.
TO FORM 990-PF, PG	1, LN 16B	2,235.	1	,118.		1,117.
				=		

FORM 990-PF (OTHER PROFES	SIONAL FEE	S	STATEMENT 4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVES MENT INCO		
BMO FEES	14,200.	14,2	00.	0.
TO FORM 990-PF, PG 1, LN 16C	14,200.	14,2	00.	0.
FORM 990-PF	TAX	ES		STATEMENT 5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVES MENT INCO		
FEDERAL TAXES FOREIGN TAXES	2,320. 1,232.		0. 32.	0.
TO FORM 990-PF, PG 1, LN 18	3,552.	1,2	32.	0.
FORM 990-PF	OTHER INV	ESTMENTS		STATEMENT 6
DESCRIPTION		LUATION ETHOD	BOOK VALUE	FAIR MARKET VALUE
BMO EQUITIES BMO FIXED INCOME		COST COST	2,966,712. 1,364,493.	3,029,153. 1,348,711.
TOTAL TO FORM 990-PF, PART I	I, LINE 13	=	4,331,205.	4,377,864.
FORM 990-PF	PART XV - L OF FOUNDATI		α	STATEMENT 7

NAME OF MANAGER

PATRICK J THOMPSON JANET L THOMPSON

BMO 🖎 Private Bank		10MPSON PAT 26-1404215	FRICK & JAN	THOMPSON PATRICK & JANET FAM FDN IMA 26-1404215	Accol July
• Details of assets in your account	nt				
DESCRIPTION OF ASSET		QUANTITY	CURRENT X UNIT VALUE	T CURRENT TOTAL	FEDERAL TAX COST
CASH & SHORT-TERM					
BMO PRIME MONEY MARKET CL I # 090		11,362.780	1.0000	11,362.78	11,362.78
TOTAL CASH & SHORT-TERM				\$11,362.78	\$11,362.78
FIXED INCOME/LOW VOLATILITY					
Corporate and other taxable					
TEMPLETON GLOBAL BOND FUND Taxable funds	TGBAX	3,899.675	12.2100	47,615.03	51,034.14
BAIRD CORE PLUS BOND FUND	BCOIX	18,431.086	11.0200	203,110.57	199,146.97
DOUBLELINE CORE FIX INCOME FUND	DBLFX	26,658,368	10.9100	290,842.79	295,902.34
ISHARES CORE TOTAL U.S. AGGREGATE BOND ETF	AGĞ	2,100.000	108.7800	228,438.00	232,260.00
VANGUARD SHORT-TERM INVESTMENT GRADE FUND	VFSUX	16,823.820	10.6600	179,341.92	180,686.78
Total Corporate and other taxable				\$949,348.31	\$959,030.23
Alternatives-Low Volatility					
Opportunistic low volatility					
FEDERATED INSTITUTIONAL HIGH YIELD BOND FUND	FIHBX	10,916.876	9.8600	107,640.40	107,749.57
FIDELITY ADVISOR FLOATING RATE HIGH INCOME FUND	FFRIX	10,634.091	9.6700	102,831.66	102,992.72
HARTFORD FLOATING RATE FUND Total Alternatives-Low Volatility	HFLYX	21,711.614	8.7000) 188,891.04 \$399,363.10	194,720.63 \$405,462.92
TOTAL FIXED INCOME/LOW VOLATILITY				\$1,348,711.41	\$1,364,493.15

8



THOMPSON PATRICK & JANET FAM FDN IMA

Account 000002257013 / Page 7 of 106 July 1, 2014 to June 30, 2015

(continued)
your account
of assets in
Details of
•

DESCRIPTION OF ASSET		QUANTITY X	CURRENT UNIT VALUE	CURRENT TOTAL = MARKET VALUE	FEDERAL TAX COST
EQUITY/HIGH VOLATILITY					
U.S. equity					
AES CORP Utilities	AES	1,800.000	13.2600	23,868.00	24,100.28
AETNA INC Health care	AET	260.000	127.4600	33,139.60	28,095.57
AMDOCS LTD ORD Information technology	рох	910:000	54.5900	49,676.90	49,020.79
AMERICAN ELEC PWR INC Utilities	AEP	260.000	52.9700	13,772.20	14,855,48
AMERIPRISE FINANCIAL INC. Financials	AMP	340.000	124.9300	42,476.20	44,148.90
AMGEN INC Health care	AMGN	330.000	153.5200	50,661 60	52,519.92
APPLE INC Information technology	AAPL	950.000	125,4250	119,153.75	120,878.00
ARCHER DANIELS MIDLAND CO Consumer staples	ADM	930.000	48.2200	44,844 60	45,145.59
AVERY DENNISON CORP Materials	AVY	670.000	60.9400	40,829 80	41,733.63
BED BATH & BEYOND INC Consumer discretionary	888Y	300.000	68.9800	20,694.00	23,267.40
BOEING CO Industrials	ВА	100.000	138.7200	13,872.00	14,592.00

BMO 🕰 Private Bank

• Details of assets in your account (continued)

DESCRIPTION OF ASSET	* *************************************	QUANTITY	CURRENT X UNIT VALUE	CURRENT TOTAL = MARKET VALUE	FEDERAL TAX . COST
CAMERON INTERNATIONAL CORP Energy	CAM	000.009	52.3700	31,422 00	32,717.40
CAPITAL ONE FINANCIAL CORP Financials	COF	340.000	87.9700	29,909.80	27,410.80
CINTAS CORP Industrials	CTAS	350.000	84.5900	29,606 50	28,748.30
CISCO SYSTEMS INC Information technology	csco	1,290,000	27.4600	35,423 40	35,164.11
CITRIX SYS INC Information technology	CTXS	220.000	70.1600	15,435.20	13,886.60
COMCAST CORP-CL A CL A COMMON STOCK Consumer discretionary	CMCSA	810.000	60.1400	48,713.40	47,319.39
CVS HEALTH CORP Consumer'staples	cvs	470.000	104.8800	49,293.60	48,851.33
DISCOVER FINL SVCS Financials	DFS	740.000	57.6200	42,638.80	42,979.12
DR PEPPER SNAPPLE GROUP INC Consumer staples	DPS	310.000	72.9000	22,599.00	24,588.89
EBAY INC Information technology	ЕВАУ	230.000	60.2400	13,855,20	14,234.68
ELECTRONIC ARTS INC Information technology	ЕĄ	230.000	66,5000	15,295:00	15,354.11
EVEREST RE GROUP LIMITED Financials	æ	260.000	182.0100	47,322.60	45,834.33

8



THOMPSON PATRICK & JANET FAM FDN IMA

Account 000002257013 / Page 9 of 106 July 1, 2014 to June 30, 2015

• Details of assets in your account (continued)

DESCRIPTION OF ASSET		QUANTITY	CURRENT X UNIT VALUE	CURRENT TOTAL = MARKET VALUE	FEDERAL TAX COST
EXXON MOBIL CORPORATION Energy	WOX	330.000	83.2000	27,456.00	28,211.67
FEDEX CORPORATION Industrials	FDX	200.000	170.4000	34,080.00	33,423.98
FIFTH THIRD BANCORP Financials	FIT8	2,190,000	20.8200	45,595.80	41,828.78
FOOT LOCKER INC Consumer discretionary	긤	250.000	67.0100	16,752.50	15,609.00
F5 NETWORKS INC Information technology	FFIV	170.000	120.3500	20,459.50	19,041.68
GENERAL DYNAMICS CORP Industrials	QD	200.000	141.6900	28,338.00	27,193 10
GILEAD SCIENCES INC Health care	GILD	400.000	117.0800	46,832.00	39,231.20
HCA HOLDINGS INC Health care	HCA	270.000	90.7200	24,494.40	20,619.09
HEWLETT PACKARD CO Information technology	НРО	600.000	30.0100	18,006.00	19,139.40
HOME DEPOT INC Consumer discretionary	유	180.000	111.1300	20,003.40	20,750.38
HUNTINGTON INGALLS INDUSTRIES Industrials	₹	190.000	112.5900	21,392.10	26,778.58
JOHNSON & JOHNSON Health care	ראר	690.000	97.4600	67,247.40	68,488.71

BMO 🔼 Private Bank

(continued)
account
n your
of assets in your accour
Details (
•

DESCRIPTION OF ASSET		QUANTITY	CURRENT X UNIT VALUE	CURRENT TOTAL = MARKET VALUE	FEDERAL TAX COST
KOHLS CORP Consumer discretionary	KSS	240.000	62.6100	15,026.40	15,308.93
KROGER CO Consumer staples	КЯ	560.000	72.5100	40,605.60	43,232.00
LAM RESEARCH CORP Information technology	LRCX	260.000	81.3500	21,151.00	18,781.85
LEAR CORP Consumer discretionary	LEA	230.000	142.2600	25,819.80	26,985.9ŏ
MACY'S INC Consumer discretionary	Σ	790.000	67.4700	53,301,30	53,729.40
MAGNA INTERNATIONAL INC CLASS A COMMON STOCK CLASS A Consumer discretionary	MGA	300.000	56.0900	16,827.00	16,380.31
MARATHON PETROLEUM CORPROATÌON Energy	MPC	840.000	52.3100	43,940.40	41,679.54
MICROSOFT CORP Information technology	MSFT	560.000	44.1500	24,724.00	23,239.94
NORTHROP GRUMMAN CORPORATION Industrials	NOO	250.000	158.6300	39,657 50	40,727 48
ORACLE CORPORATION Information technology	ORCL	1,370.000	40 3000	55,211 00	58,874 10
PG & E CORP Utilities	PCG	240.000	49.1000	11,784.00	13,046 38
SCHLUMBERGER LTD Energy	SLB	350.000	86.1900	30,166.50	30,498.51

1619-04-b4-0100321-0028-0020070



THOMPSON PATRICK & JANET FAM FDN IMA

Account 000002257013 / Page 11 of 106 July 1, 2014 to June 30, 2015

(continued)
your account
in 1
fassets
fas
s of as
Details of as

DESCRIPTION OF ASSET		QUANTITY	CURRENT X UNIT VALUE	CURRENT TOTAL = MARKET VALUE	FEDERAL TAX COST
SHERWIN WILLIAMS CO Materials	знw	100.000	275.0200	27,502.00	28,664.01
SOUTHWEST AIRLINES CO Industrials	ΓΟΛ	760 000	33.0900	25,148 40	31,463.92
TRAVELERS COMPANIES INC Financials	TRV	480.000	96.6600	46,396.80	52,087.63
UGI CORP NEW Utilities	ngı	0.000	34.4500	0.00	0.00
UNITEDHEALTH GROUP INC Health care	HNO	330.000	122.0000	40,260.00	39,464.35
WAL MART STORES INC Consumer staples	WMT	170.000	70.9300	12,058.10	13,787.00
WELLS FARGO & CO Financials	WFC	1,050.000	56.2400	59,052.00	57,024.45
Total U.S. equity				\$1,793,792.05	\$1,800,737.89
U.S. equity funds					
DELAWARE SMALL CAP VALUE FUND Small cap value	DEVIX	1,143.840	56.1300	64,203.74	47,014.91
ISHARES RUSSELL MIDCAP GRWTH ETF Small cap growth	iwP	400.000	96.8500	38,740.00	12,275.60
ISHARES RUSSELL MIDCAP VALUE ETF Small cap value	IWS	200,007	73.7600	51,632.00	17,063.90
JOHN HANGOCK III DISCIPLINED VALUE MID CAP FUND Small cap value	JVMIX	1,295.351	20.5400	26,606.51	21,189.76

BMO 🔼 Private Bank

• Details of assets in your account (continued)

DESCRIPTION OF ASSET		QUANTITY	CURRENT X UNIT VALUE	CURRENT TOTAL MARKET VALUE	FEDERAL TAX COST
Total U.S. equity funds				\$181,182.25	\$97,544.17
International					
DELPHI AUTOMOTIVE PLC Consumer discretionary	ОГРН	210.000	85.0900	17,868.90	17,654.70
HARBOR INTERNATIONAL FUND #11 Developed large cap	HAINX	1,718.459	69.6000	119,604.75	120,910.78
LAZARD EMERGING MARKETS EQUITY INST Emerging	LZEMX	6,597.074	17.0100	112,216.23	130,744.89
LYONDELLBASELL INDUSTRIES NV Matenals	LYB	440.000	103.5200	45,548.80	40,708.79
MEDTRONIC PLC Health care	MDT	540.000	74.1000	40,014.00	41,734.14
MORGAN STANLEY INS FR EMG-I Emerging	MFMIX	1,968.494	19.0700	37,539 18	41,171.55
TWEEDY BROWNE GLOBAL VALUE FUND Developed large cap	TBGVX	18,854.452	26 4400	498,511.71	497,293.30
Total International				\$871,303.57	\$890,218.15
Alternatives-High Volatility					
Hedge funds					
GATEWAY FUND Total return hedge funds Total Alternatives-High Volatility	GTEYX	3,214.337	29.7900	95,755.10 \$95,755.10	89,229.41 \$89,229.41
REITS					

ខ្ល



THOMPSON PATRICK & JANET FAM FDN IMA

Account 000002257013 / Page 13 of 106 July 1, 2014 to June 30, 2015

• Details of assets in your account (continued)

DESCRIPTION OF ASSET		QUANTITY	×	CURRENT UNIT VALUE ==	CURRENT CURRENT TOTAL QUANTITY X UNIT VALUE = MARKET VALUE	FEDERAL TAX . COST
JPMORGAN ALERIAN MLP INDEX FUND Domestic reits	АМЈ	2,200.000		39.6000	87,120.00	88,982.50
Total REITS					\$87,120.00	\$88,982.50
TOTAL EQUITY/HIGH VOLATILITY		17 - 1787 - 1787 - 1787 - 1787			\$3,029,152.97	\$2,966,712.12
TOTAL ASSETS IN YOUR ACCOUNT					\$4,389,227.16	\$4,342,568.05